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The Cold War 

Mr. Glaser and Mr. Maloney

1.  What divided Europe according to democracy or communism?

     A. the Berlin Wall    B. the Iron Curtain    C. the Great Wall
2.  The Berlin Airlift occurred because      A. the Americans blockaded Berlin

     B. the Soviets blockaded Berlin     C. The Soviets built the Berlin Wall

3.  A “Hot War” is known as actual fighting.  A. True   B.  False.

4.  Berlin was divided into    A. 4 sectors   B. 8 sectors   C. 12 sectors  D. none of these

5.  Japan was occupied by whom after WWII?   A. USSR   B. USA   C. China   D. Britain

6.  During the Cold War, the world was divided into two major powers.  Name them :

    A. USSR and U.S.A.     B. China and U.S.A.    C.  Russia and China   D. None of these


7.  The _______________ Doctrine was setup to help stop the spread of communism and  

     to prevent the USSR from taking over Greece and Turkey.    

    A. Truman    B. Marshall    C. Monroe    D. Turkish

8.  Containment was        A. stopping the spread of communism    B. stopping the spread 

     of democracy     C. building the Berlin Wall to keep the communists out

9.  The opposite of the Treaty of Versailles was   

   A. the Warsaw Pact   B. the Marshall Plan   C. The Treaty of London   D. None of these

10.  Which side of Germany was communist?  A. East    B. West    C. North   D. South

11.  What is the opposite of the Warsaw Pact?  A. NAFTA    B. NATO   C. Marshall Plan

12.  The Arms Race between the USA and USSR was a term used to explain    

      A. race to Olympic glory   B. race to get to space    C. atomic weapons competition

13. The first man in space was   A. Yuri Gagaron   B. Neil Armstrong   C. Mikhail Jordan

14.  Who sent the first satellite to space?   A. USA   B. USSR  C. China   D. Canada

15.  When Soviet satellite countries revolted, what did the Soviets do?

      A. let them be free   B. put down the revolt and killed many    C. dropped the A-bomb 

16.  Ho Chi Minh was the communist leader of Vietnam.  A. True   B. False

17.  The U.S. Containment  theory worked in Korea but failed in Vietnam.  

       A. True  B. False

18.  OPEC is an organization who’s sole goal is for world peace.  A. True   B. False

19.  The Bay of Pigs was a disaster for the U.S. because  

      A. JFK did not allow air strikes   B. the Soviets took over Cuba    C. we lost Iraq

20.  The Cuban Missile Crisis almost led to World War III when Castro 

      A. attacked the U.S.    B. setup Soviet missiles in Cuba   C. attacked the Cubans

21.  Another word for non-aligned nations is   A. 1st world country   B. 2nd world country 

      C. 3rd world country   D. none of these

22.  The United Nations   A. provides peace keeping forces    B. provides health services   

       to poor    C. is a place to voice differences between countries    D. all of the above

23.  After World War II, what happened in Germany?    

      A. the military was disbanded              B. the Nazi Party broke up     

      C. West Germany setup a democratic government     D. all of the above

24.  In the movie Rocky IV, when Rocky fought Drago in the USSR what happened?

A. Apollo Creed died        B. Rocky lost a tough fight   

C. the crowd began to cheer for Rocky at the end     D. Drago was killed by Rocky

25.  The Berlin Wall was built by  A. USSR   B. USA   C. West Germany

26.  What two military alliances emerged in the Cold War?

       A. NATO and NAFTA                 B. Warsaw Pact and Triple Union

       C. NATO and Warsaw Pact          D. Triple Allegiance and Triple Entente

27.  After World War II, what emerged as a new country?

       A. Israel     B. Japan    C. Madagascar    D. Hawaii

28.  Who took the aid from the Marshall Plan?

       A. Eastern Europe    B. Western Europe   C. Asia

29.  During the Space Race, the USA    

       A. created NASA    B. put a man on Mars    C. built nuclear weapons

30.  The first man to walk on the moon was

       A. Yuri Gagaron   B. Tom Hanks    C. Neal Armstrong   D. Buzz Lightyear   

31.  The Domino Theory that if one country turned communist all those around it would also turn communist turned out to be   A. True   B. False

32.  The Korean War was

A. between North and South Korea      B. that ended in a stalemate

C. that was supported by the USSR, China, and the USA     D. All of the Above

33.  The United States lost the War in Vietnam.  A. True    B. False

34.  What is true of Iran?

A. large Shiite population   B. large Christian population   C. they are at war with Egypt

35.  During the Cold War, which country opposed the United States?

A. Iran     B. Israel     C. India     D. none of these

36.  The U.S. supported __________ during the Iraq vs. Iran War?

A. Iraq     B. Iran    C. Neither, the U.S. remained neutral

37. OPEC currently has how many members?

       A. 12     B. 2    C. 24    D. none 

38.  Who fought during the Sinai War?

A. Iraq vs. Iran               B. USA vs. Iraq

C. Egypt vs. Israel          D. USSR vs. China

39.  How did the Cuban Missile Crisis end?

A. the U.S. attacked Cuba         B. JFK’s assassination

C. a compromise between the U.S. and USSR    D. none of these are true

40. In a market economy:

A. government owns all        B. there is competition

C. there is no competition     D. you are a communist

Collapse of European Nationalism and Middle East Conflicts
Mr. Maloney and Mr. Glaser
1.  The P.L.O. plotted to kidnap and murder Israeli athletes at the 1972 Olympic Games 

     in     A. Berlin     B. Los Angeles    C. Munich     D. Detroit

2.  The Lebanese Civil War that started in 1975 was fought between  

     A. Jews and Muslims    

     B. Christians and Muslims  

     C. Iraqi’s and Iranian’s     

     D. Hutu’s and Tutsi’s

3.  The nation in Africa that is most rich in oil but plagued by civil war and ethnic tension  

     is     A. Nigeria    B. Rwanda    C. Zaire    D. Kenya

4.  The president of South Africa when apartheid ended was

     A. F.W. deKlerk     B. Steven Biko    C. Winston Churchill   D. Resalg Yenolam

5.  The belief that all people of African descent should unify is called

     A. Pan-Africanism    B. ANC    C. Intifada    D. apartheid

6.  The terrorist group that wants a separate Palestinian state is called  

     A. Intifada     B. PLO    C.  ANC    D. apartheid

7.  In the movie Hotel Rwanda, what happened to George the Hutu military leader that 

     helped protect Paul and the refugees because of the bribes? 

     A. He was sentenced to life in prison

     B. He now lives freely in the Congo

     C. He is president of Rwanda

     D. He was executed

8.  The main person responsible for driving the British out of India through passive 

     resistance was    A. Yassir Arafat    B. Mohandas Gandhi   C. Nelson Mandela

9.  This program was created in 1910 to separate the races in South Africa and control the  

     large African majority population.  A. ANC   B. apartheid   C. PLO   D. intifada

10.  The call for Palestinian’s to revolt against the Israeli’s and take back their land is 

       called   A. intifada   B. PLO   C. ANC    D. apartheid

11.  The leader of the ANC who was jailed in 1960 and became president of South Africa 

       in 1994 was   A. Gandhi    B. Mandela    C. Arafat    D.  Tutu

12.  In the movie Hotel Rwanda, Paul and Tatiana moved where after the left Rwanda?

       A. Belgium    B. United States    C. Somalia     D. China

13.  In the movie Hotel Rwanda, Tatiana’s brother and his wife were

       A. never found   B. convicted of war crimes   C. executed for war crimes   

14.  The Peace Treaty that was signed between Israel and Egypt in 1979 was called

       A. Peace Treaty    B. Camp David Accords    C. the Marshall Plan   D. The New Idea

15.  The leader of China who converted the country to communism was

       A. Mao Zedong     B. Chiang Kai-Shek    C. Syngman Rhee   D. Josey Stalin

16.  The Nationalist leader of China who was anti-communist and had U.S. support was

       A. Mao Zedong     B. Chiang Kai-Shek    C. Syngman Rhee   D. Josey Stalin

17.  The minority religion in India that blends Islam and Hindu beliefs is

       A. Buddhism     B. Muslim    C. Sikhism     D. Judaism

18.  The movement to create a separate Jewish country in Palestine was known as

       A. Intifada    B. Zionism    C. Hebrew    D. Diaspora

19.  The two groups that fought in Rwanda and created a terrible genocide were

       A. Nigerians and Ugandans     B. Hutu’s and Tutsi’s

       C. Kony’s and Ebola’s             D. Egyptians and Somalians

20.  An African nation that suffered one of the worst genocides in human history in 1994

       was    A. Uganda    B. Somalia   C. Kenya    D. Rwanda

21.  Before and during World War II, Palestine was a colony of

       A. Britain    B. France    C. Belgium   D. United States

22.  The Jewish survivors of the Holocaust obtained independence for Israel after World 

       War II but they alienated the native population of 

         A. Jordanians    B. Palestinians    C. Americans    D. Egyptians

23.  Mohandas Gandhi is most closely associated with  

A. National Religion of India   B. Passive Resistance   C. Strengthening the caste system     

24.  This country was a colony of France until after WWII and experienced a civil war due to an influx of Palestinian refugees   A. Lebanon  B. Syria   C. Iran   D. Iraq

25.  In the movie Rocky IV, who fought for the USSR?

       A. Apollo Creed    B. Rocky Balboa   C. Ivan Drago   D. Mr. T

26.  What major country is associated with Rwanda from our videos?

       A. United States    B. USSR    C. Belgium   D. Iceland

27.  What country has the largest amount of oil in the world today?

        A. Saudi Arabia    B. United States    C. Iraq    D. Somalia

28.  True or false.  Apartheid was similar to segregation in the United States.

29.  True or false. In wars between the Arabs and Israeli’s, the Arabs always have won.

30.  True or False.  Yasir Arafat was the Terrorist leader of the PLO.

31.  What led to economic collapse of a colony?

       A. reliance on one product                          B. civil wars

       C. loans from powerful countries (debt)     D. All of these are correct

32.  India allowed the creation of Pakistan for 

       A. Muslims    B. Hindus    C. Tutsi’s   D. atomic bombs

33.  India was a colonial possession of ______________ until 1947.

       A. France    B. Britain    C. Japan    D. China

34.  True or False.  The Sikhs are trying to create their own country in the tea (Punjab) 

        region of India.

35.  During the Cold War India   A. sided with the U.S.   B. sided with USSR  

       C. was neutral    D. None of these are correct

36.  India has   A. the world’s largest democracy   B.  1.1 billion people

       C. food shortages     D. all of these are correct

37.  True or False.  The Indian Constitution of 1950 removed all rights from women.

38.  What neighboring country of India’s has nuclear weapons and they are enemies of 

       India?    A. Pakistan    B. Afghanistan   C. Bangladesh   D. Iceland

39.  Sikhs   A. assassinated 2 Indian leaders    B. have 13 million followers in India

                   C. dominate the Punjab region of India    D. All of these are correct

40.  Kenya’s first prime minister was   A. Jomo Keyatta      B. FW deKlerk

                                                              C. Nelson Mandela   D. Mohandas Gandhi

41.  Almost all countries in Africa    A. are developing       B. have few factories

                                                           C. must import food   D. all of these are correct      

42. Hutu’s     A. make-up 85% of the Rwandan population     B. have lighter skin

                      C. are taller than Tutsi’s     D. all of these are correct

43.  True or False.  In Rwanda, all human Rights organizations left except for the 

       American Red Cross.

44.  The weapon of choice for the Hutu’s vs. the Tutsi’s was

        A. Machete    B. Gun    C. Grenade   D. Bomb

45.  True or False.  South Africa has a population of 90% white and 10% black.

46.  Apartheid in South Africa   A. banned interracial marriages   B. created black and 

       white only zones   C. created separate facilities for everything   D. All are correct

47.   Steve Biko led the   A. Black Consciousness Movement   B. Hutu’s

        C. ANC       D. None of these

48.  Desmond Tutu was       A. arrested for treason                      B. Leader of the Tutsi’s

                                      C. leader of anti-apartheid movement     D. None of these

49. The Soweto Massacre of 1978 was when    

      A. white troops killed school children   B. Nelson Mandela was freed

      C. apartheid was repealed      D. the Rwandan genocide ended

50.  Nelson Mandela   A. was in jail for 30 years     B. was leader of the ANC

       C. became president of South Africa in 1994    D. all of these are correct

Industrial Revolution, Revolution, and Imperialism
Mr. Maloney and Mr. Glaser
1.  The country with the highest standard of living in the world today is

A. The United States    B. Sweden    C. Canada     D. China

2.  The Enclosure Movement dealt with

A. fencing off farmland                B. the beginning of the stock market system

C. new medicine development      D. the election of Barack Obama

3.  Population exploded because of

A. greater food production     B. new medicine   C. cleaner conditions   D. All of these

4.  What is the fuel source for the steam engine?

A. steam   B. water    C. coal   D. gasoline

5.  Of the following years listed, pick which year more people would have lived on a farm in the United States?  A. 1910    B. 1850   C. 1875    D. 1935

6.  Of the following years listed, pick a year that more people would have lived in cities in the United States?  A. 1910   B. 1850    C. 1875    D. 1935

7.  Laissez-Faire economics is when 

A. the government totally controls it’s businesses

B. the government has a hands-off policy toward business

C. a country has a communist government

D. the government strategy used by George Bush

8.  What mechanism was used to power the first factories in the Industrial Revolution?

A. the water wheel    B. the steam engine    C. the cotton gin   D. the spinning jenny

9.  Factory workers were part of the 

A. bourgeoisie    B. upper class    C. middle class    D. lower class

10.  Which medical discovery drastically increased human life expectancy during the industrial revolution?  A. penicillin   B. euthanization   C. guillotine   D. DNA

11.  John Locke was   A. conservative    B. liberal   C. communist   D. Darwinist

12.  Social Darwinists believe that

A. welfare is beneficial to our nation      B. universal health care is important for all

C. pensions should be provided by the government     D. none of these are correct

13.  Conservatives and Liberals represent different 

A. nations     B. academic levels    C. colleges   D. ideologies

14. The Suez Canal is a man-made water passage which

A. connects Lake Superior and Lake Huron

B. connects the Mediterranean Sea to the Red Sea

C. connects the Atlantic Ocean to the Pacific Ocean

D. connects the straits of Suez to the Bering straights

15.  The abolition movement dealt with  

A. ending slavery   B. starting communism   C. women voting   D. creating unions

16.  Karl Marx is known as the founder of 

A. capitalism   B. communism   C. federalism   D. Judaism

17.  Which of the following are causes for the Industrial Revolution

A. the agricultural revolution       B. inventions

C. increased demand for goods    D. All of these are correct

18.  Imperialism is

A. the separation of people by race

B. a cordial dinner where tea and trinkets are served

C. the coronation process of becoming a king or queen

D. the policy of setting up colonies and building empires by dominating other nations 

19.  By 1914, the entire continent of Africa was controlled by colonial powers from which continent?     A. Europe    B. Africa    C. South America     D. Antarctica

20.  Imperialist nations 

A. look to extract natural resources and spread their culture

B. are usually quite small and not powerful

C. cooperate with colonial governments and fairly trade resources

D. believe that free trade with the world is imperative to their colonies

21.  What allowed European nations to dominate non-developed areas and establish global empires?

A. they had a lot of corn    B. technological superiority   C. nukes     D. medicine

22.  Nationalism is 

A. extreme pride in your nation

B. when people are happy having a small empire and no identity

C. the belief in one nation under God

D. when people like people from other countries and think they are all equals

23.  Westerners viewed people with different religions, cultures or lifestyles as 

A. backwards or uncivilized       B. they accepted their religions, cultures, and lifestyles

C. they were taken as slaves       D. viewed as leaders and looked to them for guidance

24. Who were the first explorers of Africa’s interior?

A. Al-Qaeda miltants     B. Muslim missionaries    C. Christian Missionaries

25.  By 1914, Liberia and Ethiopia were

A. the wealthiest countries in the world        B. two major powers in the world

C. the only independent African nations       D. builders of the Suez Canal

26.  The Sepoy Mutiny resulted in 

A. the Chinese fighting Britain

B. Gandhi’s peaceful revolt against Britain

C. limited trade with India

D. full British control over India

27.  By the mid 1800s, this country was falling as a world power

A. United States   B. France    C. Britain   

28.  Sepoys are Indian soldiers in the British Army.  What led to the Sepoy Rebellion of 1857?    

A. Sepoys did not want to wear Red Coats    

B. Sepoys refused to fight because they were paid poorly

C. the first Sepoy union went on strike for unfair working conditions

D. Sepoys did not want to use their new rifles because the bullets used animal grease     

29.  Which drug did the British ship to China to trade for goods and tea?

A. Crack    B. Opium   C. Marijuana   D. Alcohol

30.  As a result of the Opium War, England acquired

A. Hong Kong    B. Mozambique    C. France    D. Opium

31.  The Chinese viewed Western culture as 

A. innovative   B. sophisticated   C. barbaric    D. advanced

32.  The Open-Door Policy

A. closed all trade in China

B. proposed equal trading rights for all colonial powers in China

C. allowed England to get full control of China

D. forced all Chinese people to keep their doors unlocked at all times

33.  The Boxer Rebellion was

A. intended to kick foreigners out of China

B. when 20,000 imperialist soldiers fought the Chinese Nationalists

C. intended to keep China strong and undivided

D. All of the Above

34.  What is the address of our class’s website?

A. www.mrmaloney.com            B. www.mrmaloney.weebly.com
C. www.warrenmottrocks.com   D. www.glaserandmaloney.com
35.  What nation controlled the most land in Africa in 1914?

A. Britain    B. Portugal   C. France   D. Spain

36. According to the article we read in class “Shanghai Gets Supersized”, how many kids may an urban Chinese family have?

A. none    B. one    C. 1.5    D. three

37.  According to the article we read in class “Shanghai Gets Supersized”, Shanghai has how many more people than New York City?

A. 15 Million     B. 100 Million     C. 1 Billion    D. All of these are correct   

38. According to the article we read in class “Shanghai Gets Supersized”, if you want to get married in Shanghai, what must you do?

A. get a job    B. pledge an oath to the country   C. buy a house    D. get pregnant

39.  What African tribe fought the British in South Africa?

A. the Zulu’s    B. the Boer’s    C. the Hutu’s    D. the Darfur’s

40.  In Southern Africa, the British forced the Boers

A. on the Great Trek    B. in to Zulu lands   C. into a battle   D. All of these

41.  When the slave trade ended, West Africa began exporting

A. Copper and Ivory    B. Slaves and Corn   C. Salt and Vinegar   D. Ships and Pirates

42.  What part of Africa is mostly Muslim?   A. South   B. West   C. East   D. North

43.  What part of Africa is mostly Christian?  A. South   B. West   C. East   D. North

44.  Africa is approximately how much bigger than Europe? 

A. 2X    B. 3X     C. 100X    D. None of these

45.  Which country used direct rule over its colonies?    A. France    B. Britain   C. U.S.A.

46.  Which country used indirect rule over its colonies?  A. France   B. Britain   C. U.S.A.

47.  Which country used Spheres of Influence the most? A. France   B. Britain   C. U.S.A.

48.  A Sphere of Influence means that you

A.  dominate a nation with your army

B.  dominate a nation via imports and exports

C.  dominate a nation with your government

D.  dominate a country by taking its natural resources

49.  Anti-Imperialists dislike imperialism because

A. it is expensive      B. it causes racism    C. it is not democratic    D. all of these

50.  A western educated resistance leader was   A. Napolean   B. Gandhi   C. Magellan

51.  A form of superior technology from the imperialist era is

A. the hammer     B. the telegraph    C. the Samurai Sword     D. the trebechet

52.  The most important reason for imperialism during the Industrial Age was

A. need for Natural resources             B. need for land

C. need for slaves                                D. need for drugs and alcohol

53.  The Muslim Ottoman Empire eventually fell apart due to 

A. corruption and abuse of power      B. lack of money

C. lack of armies                                D. the death of the Sultan

54.  Ottoman Sultans    A. were rulers/Caliphs   B. rejected western reforms   

C. allowed medical improvements    D. all of these are correct

55.  During the Armenian Genocide   

A. the Young Turks killed over a million Armenians

B. Armenians were chosen because they were wealthy Christians in a Muslim country    

C. Armenians were denied rights by the government

D. All of the Above

56.  “Who, after all, speaks today of the annihilation of the Armenians?” is a famous quote of    A. Joseph Stalin     B. Guang Xu    C. Adolf Hitler     D. F.D.R.

57.  The “Father of Modern Egypt” was 

A. Cassius Clay   B. Muhammed Ali    C. Kareem Abdul-Jabbar   D. Guang Xu

58.  Whose idea was it to build the Suez Canal?

A. Teddy Roosevelt    B. Ferdinand de Lesseps   C. Muhammed Ali   D. Guang Xu

59.  Egypt became a _____________ of Britain’s?

A. territory    B. province     C. protectorate     D. pawn

60.  The Treaty of Nanjing in 1842 made China

A. pay for the Opium War   B. abolish the Sati practice  C. open its doors

61.  Which dynasty ruled in China?

A. Ottoman     B. Mughal   C. Qing    D. Tibetan

62.  True or False.  During the Industrial Revolution, large farms were replacing small farms.

63.  True or False.  During the Industrial Revolution, the population of Europe skyrocketed from 120 million people to 100 billion people.

64.  True or False.  The Industrial Revolution hit Britain first due to it’s geography.

65.  True or False.  Injecting air into molten iron ore creates steel and this is called the Bessemer Process.

Ch. 26 Test (WW1) 

Mr. Glaser and Mr. Maloney

1. In World War One the Allied Powers fought against the
a. Axis Powers

b. Central Powers

c. Triple Allegiance

d. Russians

2. One member of the Triple Entente was
a. Serbia

b. Germany

c. France

d. Libya

3. The strongest part of the British military was its
a. Army

b. Navy

c. Air Force

d. Coast Guard
4. The alliance between Serbia and what country led to World War One?
a. Russia

b. Germany

c. United States

d. Turkey

5. Archduke Franz Ferdinand and his wife Sophie, were killed by
a. Gavrilo Princip

b. Sirhan Sirhan

c. Lee Harvey Oswald

d. John Wilkes Booth

6. The German plan to attack France through Belgium was called
a. Blitzkrieg

b. Schliefflen plan

c. D-day

d. Princip plan

7. The type of fighting during World War One was called?
a. Hand to hand combat

b. Mortal combat

c. Blitzkrieg

d. Trench warfare

8. To counter the strength of the British Navy, the Germans used
a. U-Boats

b. Chlorine gas

c. Zeppelins

d. Big Bertha

9. Something a soldier could get in a trench was
a. Lice

b. Trench foot

c. Bit by a rat3

d. All of the above

10. What country switched sides during World War One?

a. Italy

b. United States

c. Ottoman Empire

d. Iceland

11. Conscription is a fancy way of saying
a. Trench

b. Draft

c. Taxation

d. Blitzkrieg

12. New weapons of war that made World War One so destructive were
a. Machine Guns

b. Poison gas

c. Flamethrowers

d. All of the above

13. Name the worse place to be during World War One?
a. In a city

b. In a trench

c. No man’s land

d. In a bunker

14. What is a zeppelin?
a. A large gun that shoots far

b. Al large gas filled aircraft to drop bombs

c. A submarine

d. A tank

15. This action by the Germans helped lead the United States into World War One
a. Poison Gas

b. Invading Belgium

c. Not being nice

d. Zimmerman Note

16. A British passenger ship that was sunk by the Germans that created a lot of anti-German feelings in the United States was
a. Lusitania

b. Titanic

c. Royal Caribbean

d. USS Cole

17. What made the Russians leave World War One?
a. Revolution at home

b. The United States kicked them out

c. Germany asked them to quit

d. The French and British didn’t need Russia anymore

18. In the movie Flyboys, American pilots went to fight with what country?
a. Germany

b. France

c. Russia

d. Serbia

19. The mascot for the squadron in Flyboys was a 
a. Dog

b. Duck

c. Lion

d. Bear

20. Who was the leader of the Bolshevik Revolution in Russia?
a. Lenin

b. Nicholas II

c. Kaiser Wilhem

d. Newt Santorum

21. What were the provisions of the Treaty of Versailles?

a. A German war guilt clause

b. German Reparations

c. More colonies for Britain and France

d. All of the above

22. Reparations mean to 

a. Pay money for the war

b. Apologize for the war

c. Repair all the bombed buildings

d. None of these

23. What were the causes of World War One/

a. Militarism

b. Nationalism

c. The alliance system

d. All of the above

24. What caused 750,000 civilian deaths in Germany during World War One?

a. Poison gas

b. Bombs

c. Artillery fire

d. Blockade by Britain

25. This country gained territory after WWI?

a. Germany

b. Italy

c. Britain

d. United States

26. In which battle did the Turks wipe out the Australians?

a. Versailles

b. Marne

c. Gallipoli

d. Midway

27. American soldiers during World War One were called

a. Doughboys

b. Dirigibles

c. Huns

d. Rebels

28. One result of the Russian Revolution was

a. The people now ruled the nation

b. The czars came back to power

c. The Russians took over Germany

d. The Communist party ruled the nation

29. Propaganda is

a. The channeling of all of a nation’s resources into the war effort

b. Payments for war damage

c. Glorification of the military

d. The spreading of ideas to promote a cause or damage an opposing cause

30. In order to prevent being sunk by submarines, the Allied Powers used the 

a. Convoy System

b. Total War

c. Trench Warfare

d. Zeppelins

31. The Revolutionary Socialist group in Russia who were communists were called the

a. Whites

b. Zimmerman

c. Bolsheviks

d. Proletariat

32. Which country was not in the Triple Alliance

a. Germany

b. Ireland

c. Austria-Hungary

d. Italy

33. Fourteen Points was the plan for peace terms after WWI developed by

a. John Pershing

b. Woodrow Wilson

c. Kaiser Wilhelm II

d. Nicholas II

34. World War One officially ended because of this which also created major problems or Germany.

a. Zimmerman Note

b. Triple Entente

c. Treaty of Versailles

d. League of Nations

35. Why did Britain enter World War One?

a. Germany invaded Belgium

b. The archduke was assassinated

c. Russia attacked Serbia

d. India was attacked by Germany

36. What was the main reason that the U.S. joined the war?

a. Russia dropped out of WWI

b. U.S. had major loans with the Allies

c. The U.S. had extensive experience in trench warfare

d. Fear of poison gas attacks at home

37. World War One is also known as

a. The Best War Ever

b. The Great War

c. Total War

d. War of the Worlds

38. France was bitter with Germany prior to WWI because of what happened in

a. World War II

b. The Great Depression

c. The Franco-Prussian War of 1871

d. The French Revolution

39. Which statement is not true?

a. Germany was considered a new power

b. Britain was considered an old power

c. Germany had the strongest navy

d. Germany and Britain had an imperial competition for colonies in Africa

40. The main idea for the Germans to attack France first was  

a. To Defeat the French before the Russians could mobilize troops to fight

b. Because the Germans really hate the French

c. Because the Germans speak really good French

d. To Defeat the French so they could join the Italians and fight Britain

41. The trenches for World War One are located 

a. On the western front

b. On the eastern front

c. On the Mediterranean

d. In Gallipoli

42. Why did the Schlieffen Plan fail?

a. Russia mobilized quicker than expected

b. The German troops were pushed back to the Marne River by France/Britain

c. Both sides dug into trenches for a long war

d. All of the above

43. During trench warfare, how were messages delivered?

a. Trench dogs

b. Carrier Pigeons

c. Telegraph

d. All of the above

44. What famous future leader learned a lot during WWI and went to jail for not paying taxes?

a. Josef Stalin

b. Adolf Hitler

c. FDR

d. Woodrow Wilson

45. Who was the most famous flying ace of World War One?

a. Snoopy

b. Charles Lindbergh

c. Red Baron

d. Adolf Hitler

46. What country was capturing German colonies in China and the Pacific during World War One?

a. Japan

b. Fiji

c. USA

d. Turkey

47. Propaganda is used for

a. Controlling public opinion

b. Censoring media

c. Biased media story

d. All of the above

48. World War One ended on which Date?

a. 9-11-11

b. 11-11-18

c. 6-4-44

d. 12-7-41

49. Waging a total war included

a. Elimination of a draft

b. Paying higher taxes to pay for war

c. Eating more food at home

d. Using more gas at home

50. Which if the following was true about the United States during World War One?

a. It took years to train inexperienced US soldiers

b. 2 million fresh US troops went to Europe

c. The  US joined the League of Nations

d. The US attacked Mexico after the Zimmerman note

51. What is true about the flu of 1918-1919?

a. It spread fast around the world

b. It killed more people than World War One

c. It effective all ages of people

d. All of the above

Post WW1 and WW2 Test
52. The Treaty of Versailles
a. Blamed Austria-Hungary for the war
b. Punished Germany

c. Created the United Nations

d. Gave all of Germany’s colonies to Japan

53. Germany had to pay money to Britain and France for the war. This is known as
a. Reparations

b. Interest

c. Alimony

d. Payback

54. After World War One, these countries ceased to exist
a. Czechoslovakia and Yugoslavia

b. Austria-Hungary and Ottoman Empire

c. France and Britain

d. Turkey and Syria
55. The depression following World War One was caused by
a. Less demand for raw materials

b. Overproduction of manufactured goods

c. Stock market crash

d. All of these

56. One tenet of Fascism is
a. Free press

b. Democratic elections

c. Free market economy

d. Rule by dictator

57. The Fascist dictator in Italy was
a. Adolph Hitler

b. Benito Mussolini

c. Hirohito

d. Francisco Franco

58. Adolph Hitler came to power in Germany by
a. He was elected Chancellor in 1933

b. He overthrew the Weimar Republic by force

c. The Nazi party crowned him king

d. The League of Nations placed him in power

59. One reason the League of Nations was weak was
a. It was based in Japan

b. Any country was allowed to join

c. The United States never joined

d. All of the above

60. A country completely ruled by the government and a dictator is known as 
a. Totalitarian 

b. Republic

c. Reich

d. Democracy 

61. Germany, Italy and Japan were known as
a. The Allies

b. The Triple Entente

c. The Triple Threat

d. The Axis

62. Hitler’s Third Reich was meant to last  _____________ years
a. 100

b. 1000

c. 10, 000

d. 100,000

63. Hitler blamed Germany’s problems on this group of people
a. The Jews

b. The Aryans

c. The Nazis

d. The Bismarck’s

64. Kristallnacht is when
a. Hitler spoke before large groups of soldiers

b. Germany took over the Rhineland

c. Nazi led mobs attacked Jewish communities, homes and business

d. Neville Chamberlain gave in to Hitler

65. German children were indoctrinated and brainwashed in this organization
a. Nazi cub scouts

b. Junior Nazi Party

c. Red Cross

d. Hitler Youth

66. The Nazis targeted these groups in the Holocaust
a. Jews

b. Gypsies and Slavs

c. Homosexuals

d. All of the above

67. The Nazis murdered this many people during the Holocaust
a. 1 Million

b. 2  Million

c. 11 Million

d. All of the above

68. Concentration camps used this method to murder prisoners
a. Gas chambers disguised as showers

b. Cremation

c. Electric chair

d. Guillotine

69. Joseph Stalin killed approximately this many people during his reign of the USSR
a. 6 Million

b. 11 Million

c. 20 Million

d. 100 Billion

70. Collectivization in the USSR meant
a. Large farms were broken up and given to the people

b. People had to give up small farms and live on government owned farms

c. The USSR collected 1/10 of all farm products as tax

d. Everyone had to move to the cities and there were no farms

71. World War Two was caused by
a. Japan invading China

b. Italy attacking Ethiopia

c. German aggression in Europe

d. All of the above

72. Germany violated the Treaty of Versailles by

a. Annexing Austria

b. Taking the Sudentland for Czechoslovakia

c. Joining the League of Nations

d. A and B

73. The policy of giving in to avoid war at any cost is known as

a. Blitzkrieg

b. Appeasement

c. Negotiating

d. Always the best move

74. The Soviet Union and Germany signed a non-aggression pact in 1939 in which they

a. Promised not to attack each other

b. Promised not to attack Poland

c. Divided up Poland

d. A and C

75. Germany invaded this country in September 1939 to officially start World War Two

a. Russia

b. Jamaica

c. Poland

d. Japan

76. Britain, France, USSR, USA, China and Australia were known as

a. The Allies

b. The Axis

c. The Big Six

d. The Triple Entente

77. Blitzkrieg means

a. Slow war

b. Lightning War

c. To sack the quarterback

d. All of the above

78. The London Blitz  was

a. Lightning war

b. The name of Churchill’s dog

c. When Germany bombed London in 1940

d. To sack the quarterback

79. The Russian city where the battle lasted a year and the Soviets defeated the Germans was

a. Stalingrad

b. Tampa

c. Berlin

d. Detroit

80. The invasion of Normandy is also known as

a. A-Day

b. B-Day

c. C-Day

d. D-Day

81. Germany’s last ditch effort in the war was

a. The Battle of the Bulge

b. The Battle of the Pocket

c. The Battle of the River

d. The Battle of the Circus Clowns

82. At the end of the war, Hitler

a. Was taken prisoner and sentenced to life in prison

b. Was never found

c. Committed suicide

d. Fled to Japan

83. At the Yalta conference, Roosevelt, Churchill and Stalin

a. Divided Germany between Britain, France, USA and USSR

b. Agreed to play nice

c. Agreed to punish Germany just like the Treaty of Versailles

d. None of the above

84. The war in the Pacific ended when

a. The USA dropped atomic bombs on Hiroshima and Nagasaki

b. The USA invaded Japan

c. France invaded Japan

d. Japan agreed to play nice

85. This many people were killed in World War Two

a. 700,000

b. 75 Million

c. 75 Billion

d. 7

86. After the war, many Nazis were

a. Put on trial

b. Sent to prison

c. Executed

d. All of the above

Ch. 34 

87. Outsourcing is the process of
a. Creating more jobs in the USA
b. Sending work to the developing world to save money

c. Working outside jobs like construction

88. The Sunni Islamic faith practiced by Al Qaeda and the Taliban is
a. Wahabbi

b. Shiite

c. Coptic

89. The common currency for most of Europe is
a. Euro

b. Pound

c. Peso
90. An epidemic is a
a. A type of religion

b. A way to clone sheep

c. Rapidly spreading disease

91. The process by which national economies, politics, and societies become integrated with those of other nations is 
a. protectionism

b. outsourcing

c. Globalization

92. The use of violence to achieve political goals is
a. Terrorism

b. Politics

c. Wahabbi

93. When one ruler has complete control of a government, this is known as
a. Dictatorship

b. Communist 

c. Socialism 

94. The manipulation of genetic material to produce specific results is 
a. Polytheism

b. Genetic Engineering

c. Epidemic

95. Twenty-seven countries are a member of this group, which uses the Euro for currency
a. European Union

b. OPEC

c. NAFTA

96. A belief that the Earth’s surface temperature is rising over time is called
a. Tsunami

b. Hurricane

c. Global Warming

97. A country that mixes command and market economies is known as a 
a. Mixed economy

b. European Union

c. Democracy

98. A large damaging wave caused by an earthquake is
a. Tsunami

b. Hurricane

c. Global Warming

99. One of the threats that the world faced at the end of the 20th century was the rise of oppressive dictatorships, such as
a. Saddam Hussein

b. Winston Churchill

c. Nelson Mandela

100. Weapons that can release disease carrying organisms such as smallpox are called
a. Nuclear weapons

b. Chemical weapons

c. Biological weapons

101. Which if the following countries have nuclear weapons?
a. Israel

b. France

c. Britain

d. All of the above

102. Which of the following countries are communist today (in govt):
a. China

b. North Korea

c. Cuba

d. All of the above

103. Which statement is a fact rather than an opinion?
a. The European Union (EU) has issued a common currency called the Euro.

b. China should end the “One Family, One Child” policy.

c. Developing nations will never be able to compete with developed nations.

104. Countries like North Korea, Pakistan, and Iran are considered threats to global security due to which of the following?
a. Spread of Democracy

b. Nuclear Proliferation

c. OPEC’s power

105. What do Saddam Hussein, Mao Zedong and Joseph Staling have in common?
a. Communism

b. Democracy

c. Dictators

106. The USA and Britain invaded Iraq in 2003, what was one reason given for the invasion?
a. Iraq threatened to invade Iran

b. Iraq had weapons of mass destruction

c. Iraq’s army had American hostages

107. The United States is currently the world’s largest economy. (import and export the most)

a. True

b. False

108. Cuba is a nuclear power and threatens the United States with their missles.

a. True

b. False

109. Osama bin Laden was tracked down in Pakistan by U.S. Navy Seals and killed.

a. True

b. False

110. The United States has the most nuclear missiles in the world.

a. True

b. False

111. Communism kept religious peas; in some of those countries we now see religious civil war.

a. True

b. False

112. Wahabbi Shiite Islam is the faith currently practiced by Al Qaeda and the Taliban.

a. True

b. False

113. The Soviet leader who started to dismantle communism was Mikael Gorbachev.

a. True

b. False

114. Crops that are resistant to disease and insects are genetically modified.

a. True

b. False

115. A tariff is a tax on imported goods

a. True

b. False

116. A market economy follows the dictates of its government.

a. True

b. False

117. OPEC is a group of countries joined together to sell weapons

a. True

b. False

118. Détente is the lessening of tensions during the Cold War

a. True

b. False

119. Glasnost in the Soviet Union

a. Ended censorship

b. Gave some free speech to citizens

c. Opened relations with the USA

d. All of the above

120. North Korea is

a. Democratic and a market economy

b. Communist and a market economy

c. Communist and a command economy

d. Democratic and a command economy

121. The standard of living in China is higher than the standard of living in the USA.

a. True

b. False

122. This advance in technology connects the whole world

a. Internet

b. HDTV

c. Internal combustion engine

123. Dr. Jonas Salk invented the __________ vaccine

a. Measles

b. Polio

c. Mumps

124. New security measures after 9/11 inlcude:

a. Patriot Act

b. Homeland Security

c. TSA

d. All of the above

125. The first cloned animal was

a. A dog named Lassie

b. A pig named Babe

c. A sheep named Dolly

d. A cat named Felix

126. Mumbai, London, Madrid and Bali all have this in common:

a. Attacked by Al Qaeda

b. Led by dictators

c. Are all communist

d. All of the above
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